H & 0l & AHS B Ml A

2N DEFBY
A QlIEYo HANSHE FEH(NSHEFR/UHSNS - E[/RSIIE)

ol BRl5tD SR EOI (IERE MY (SHol: )
A - Z - E9I(E) - KIRAY - BaS ofl &4 G o HIDEY
wWSE ML 28,333,623 26,166,636 2,166,987

= 1,168,600
[ 593,000
Il 440,000
< 2,188,866
Al 23,943,157
O;'%T%;SQJ HANSHE R (WSLSR/USLS - 27 28,169,872 26,015,532 2,154,340
= 1,168,600
s 593,000
J| 440,000
S 2,188,866
Al 23,779,406
Holoty eHE QI HsWsS MAHEE 27,758,839 25,204,779 2,554,060
= 1,168,600
= 593,000
Il 440,000
S 2,188,866
Al 23,368,373
SHNS2et &S fleh Q2EH 2 4,800 4,800 0
307 212+01& 4,800 4,800
02 QIRIHAANGE R 4,800 4,800
OHFDESS H& INSK NSHE
4,800,000 *1EHX| 4,800
AUBA 2E5SH WEXIE 6,872,220 7,924,667 A1,052,447
= 270,000
< 1,882,866
Al 4,719,3%4
307 212t01™ 6,872,220 7,924,667 A1,052,447
s 270,000
S 1,882,866
Al 4,719,3%4
09 2+YHEXS 6,872,220 7,924,667 A1,052,447
ONABIA 22| 22X
1,000,000 «25CH* 10 250,000
OEAE usSZd S8 HAKE A
45,000,000& « 122 540,000
= 270,000
Al 270,000
OHAZSAIY MHEXIE
496,351,66603 * 122 5,956,220
< 1,786,866
Al 4,169,3%4
O0=ZgetsE 28 WEXE
15,000, 000& x23] 30,000




2N DEFBY
A RIS MANSHY P (NSEESF/UHSNS - =[SIIEY
o9l B2IotD HMEOl HEDS MM COR
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O2X A SEHA Fd X
12,000, 000 +8CH 96,000
= 96,000
AUHA S28s EA8X 8,065,000 7,260,000 805,000
307 lztol & 8,065,000 7,260,000 805,000
2gHEXS 8,065,000 7,260,000 805,000
OAlUitA Reals 42X
317,700,000& =103 3,177,000
OAILIHA Bl d =424
155,500,000 « 102 1,555,000
OF2E 100FALHA 2 42X
333,300,000& =10 3,333,000
AUBA 2EAHE X2 497,000 283,000 214,000
307 elztol & 497,000 283,000 214,000
09 2s-gAHAELES 497,000 283,000 214,000
OAlUH A WSt =5 K&
41,300,000& = 10& 413,000
OAIUH A LED & X CHLAEE WKl
5,600,000 *15CH 84,000
AUHA EXed EA8X 1,751,366 927,000 824,366
s 278,000
Al 1,473,366
307 elztol & 1,751,366 927,000 824,366
= 278,000
Al 1,473,366
B 2=gHEXS 1,751,366 927,000 824,366
OAlUHA 8Xd SAEX
437,841,500 x4 D1 1,751,366
[ 278,000
Al 1,473,366
WSARNE MaA 2 877,500 483,000 394,500
= 585,000
=S 292,500
402 QI”F X201 & 877,500 483,000 394,500
= 585,000
< 292,500
02 QI A2 AL E R (0IHTHE) 877,500 483,000 394,500
OuSA MatA FY
67,500,000 * 13CH 877,500
= 585,000
= 292,500
AMUBHA SEXOX = $ 2+ 5,000 5,000 0
401 AIEHIZL SO 5,000 5,000
01 Al&HI 5,000 5,000




2N DEFBY
T 0IEAO MUDSUY PH(DELER/HSDE - BRSIIEN)
o9l B2IotD HMEOl HEDS MM (crel: g)
A - Z - E9I(E) - KIRAY - BaS ofl &4 G o HIDEY
OAMUHA SHXDXI(GHE TheH) Ald B
2,500,000 #22 5,000
Hsus 2483 g2 =8 1,246,540 532,431 714,109
101 e124d| 26,776 0 26,776
M4 JRHHZ2Z2XSE+ 26,776 0 26,776
Okd JHEN HE AUWHA SsE<01 2
& 26,776
—JI2=s 10,0303 *4A| 2Ex302 x20H 24,072
—=8le= 24,072,0002 4. 5% 1,084
—dLLE 24,072 ,0002 +3.545% 854
— &Ik 853,352 %12.95% m
—1EEE 24,072,000 *1.75% 422
—MTHEE 24,072,000 0.966% 233
201 L2 250,764 466,431 A215,667
01 AtR2telbl 165,736 410,052 A244,316
OunSIEEIINOIAG] Aol
120,000 8 »83] 7,680
OAlUHA 3FE =dT 3l
120,000 2500 2% 12 30,000
O=&Al nsSeg g XA
2,500,000& 42| 10,000
OALIHA BJE & HH 222 ME
1,000& %20, 0000H 20,000
OAlLHA 3F]E 23X =d& Fhl
200,000 45004 2+13] 90,000
OAlU A THEXIE dofde a4ds=g
100,000& *10F 13l 1,000
OAlUH A, BIAl 28 38 & o{H2s 2
S0t =& S2HI(S20HAlI)
9,000 x4 +8 123 3,456
OHES AUt A SsdE 29 818 ¢
300,000 122 3,600
02 3224l 85,028 56,379 28,649
Ouste sl | 2
39,992,000 *12 39,992
OAlUi A d&E |XI 2l
12,0003 %1690« 122 24,336
OAOIEEH FXI22/H 20,700
—Ste= 30,0003 * 102 90N & 2,700
M3 200,000 *10& *97H & 18,000
202 OH| 3,000 3,000
01 2L AL 3,000 3,000
OUsuwE HDILE, %3 & #IXI0HE~
60,0002 x5 x 102 3,000
207 AR 397,000 63,000 334,000
01 2 EAH| 8,000 63,000 255,000




2N DEFBY
T 0IEAO MUDSUY PH(DELER/HSDE - BRSIIEN)
o9l B2IotD HMEOl HEDS MM (crel: g)
SA - A - S9I(E) - HIRAY - BES ol &t G o HIDE2
OAlUIHA X2 BXZ2 3HZA S
8,000,000& 12l 8,000
02 MAHE] 389,000 0 389,000
OUZ24 22 AUHA WSIHE 22| AlA
8 A= 389,000,000 *14 389,000
303 L= 15,000 15,000
01 Z&= 15,000 15,000
OusE o MEHAIR 24 XXM B =
28 299 250,000& x32+20H 15,000
401 AlEHIZL 2 OHYI 554,000 554,000
01 A=l 554,000 554,000
OAILIHA DSAIE EX1 2 A
150,000, 0003 %104 2~ 150,000
OAlLIH A =680 30 HE 8ts 37 &
OIELH =4 67,333, 3333 600 2 404,000
BAI2SAIY KR 720,007 665,650 54,357
201 L2 10,400 10,400 0
01 AtR2telb] 10,400 10,400 0
OSAIAISIRE! Ao+
70,000 * 10 #22 1,400
O2==3AAL 2208 2
2,000,000& *22] 4,000
O=&olez g8 500,000& *10=! 5,000
307 212t01 & 709,607 655,250 54,357
09 2FHAHEXS 709,607 655,250 54,357
O"Al 2 Stz 13
12,2102 *1,127CH+ 10 137,607
O"YAl II=E8M === K&
55,0002 *1,040CH* 102 572,000
EAl S8 SHH 29 X 360,000 305,000 55,000
307 gIztol ™ 360,000 305,000 55,000
09 2HHEES 360,000 305,000 55,000
OHASESdH 2SR
30,000 *1, 100CH=10& 330,000
Ol OtelXMSE 2SR
10,0002 5,000 «5%* 128 30,000
EIAl 2IXH EAAIY 700,000 722,000 A22,000
= 54,600
Al 645,400
301 Et2E = 700,000 700,000 0
= 54,600
Al 645,400
14 DBt 2 a3 700,000 700,000 0
O=HAl 24X SBAAS
50,000,000 * 14CH 700,000




2N DEFBY
M QIIEAMO| MENSHAE FPEH(WSYEF/UNSNS - S F[SIIE)
Chelr Helotd HEMOI HEWE MAHEE EEED
SA - B GR(31) - HIRAY - BES ol &k G o HlmS2
= 54,600
Al 645,400
AT S 2| AAE 23 13,930 12,401 1,529
308 AHXIHMSOIH 13,930 12,401 1,529
13 I 2SO & X P& A | 13,930 12,401 1,529
OESANZHEHZ2ACAAE 2
13,930,000& *13] 13,930
CSEAl WMAIRE A 50,000 50,000
307 2Iz2+0l™ 50,000 50,000
09 2+HEXZ 50,000 50,000
OL-SEHAI WX 2 AL
1,000, 0002 *50CH 50,000
GHEHDIE At K& 10,79 10,79% 0
201 L2 | 2,7%6 2,7%
02 E324Hl 2,7%6 2,7%
O=S2FZA(ADELH) S22 2,7%6
-SRI 33,0002 12JH 2 3%
—&lIe3 200,000 1201 = 2,400
307 QI2H0| M 8,000 8,000
02 QIRHEAAIHE B X 8,000 8,000
OSZANAHAHDIY 2Z XA
4,000,000 *23] 8,000
28 RIIEEZ K= 1,300,000 1,300,000 0
307 QI2tol ™ 1,300,000 1,300,000
09 2+HEXZ 1,300,000 1,300,000
O2=gH |FFAH Hs EX3 1,300,000
— A E TSIHAIUEHA, HAIHA)
30,000,000&*10& 300,000
— AL EXSIH(EHAL
100,000,000&*10& 1,000,000
wWEAL OlsH HS 3,289,600 3,466,234 A176,634
| 440,000
Al 2,849,600
201 L2 | 1,600 1,600
01 At 22|l 1,600 1,600
OuEdk Ol AP &
100,000 «8H 23] 1,600
203 SR =& 2,000 3,000 21,000
03 Al Z=ZIHSZ=XY| 2,000 3,000 21,000
OSEDSLE H¥ [ 222X
2,000,000 14 2,000
307 QI2tol 3,286,000 3,463,234 AT77,234
| 440,000
Al 2,846,000




2N DEFBY
A RIS MANSHY P (NSEESF/UHSNS - =[SIIEY
el HRlElD OHEEOl IENE A (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
05 2ItRIE = 1,886,000 2,282,609 A\396,609
OZ0fe Al 24| X
471,500,000 x4 71 1,886,000
Jl 125,000
Al 1,761,000
09 2FHHEXS 1,400,000 1,180,625 219,375
OuESHA BI2XMEAl 28 X
116,666,660 «12& 1,400,000
Jl 315,000
Al 1,085,000
wWSA OISKAME 29 518,000 0 518,000
= 259,000
Al 259,000
307 el2to| & 518,000 0 518,000
= 259,000
Al 259,000
05 git?(& = 518,000 0 518,000
OuSAAOISAEHEH 2SX2
43,166,660« 12& 518,000
= 259,000
Al 259,000
OISEAl 24 860,000 718,200 141,800
= 45,000
< 13,500
Al 801,500
307 lztol & 860,000 718,200 141,800
= 45,000
=S 13,500
Al 801,500
00 2FSHEXS 860,000 718,200 141,800
OGI==Al 23 71,666,600 «12& 860,000
[ 45,000
= 13,500
Al 801,500
OISEAl O18d A & J&AIAE 24 12,600 12,600
201 =3 7,200 7,200
01 At22t2l] 7,200 7,200
OCIS=Al 0133 M
6,0002 «1000H* 1204 2 7,200
308 AHXIEMSOIH 5,400 5,400
18 SO 2ASHUSHE 4N AAS A 5,400 5,400
OUISEAl SAAAE 23|
450,0002  12& 5,400
AU A K-TIHA OFel Xl X3 540,000 0 540,000




od
i’
oF
uJ

8 8 mmw 8|3 318 18 S
S S e e © |® S|S == o |®
20 3|83 o | o | o 5|
_A_uﬁ_v 3 Z (<
o
E=)
© (D@D [w
SN
o
<
RIS
8 3818 8 8|8 mwmmmw S 8 888 8 S| B38| S|I33 |3 s 8 S 8
S S| S 38|18 S S 9|f¥lgle 885 S © 9|xn(xn ©|S|lSs SININ|ININ § © ® 9
ol
<
S
= = o=
Gl o R B o ol -
= e} Ql a al © Ql 5 © ©
m * X — — w k3 X X X X %
= = [0l = & ¥ N o 80 o) [ o1 <
o L2 ~ 8 B 8 8 ¢ A 2 g 8 _ 8 3
N 8 m 8 5,38 g < g ol s gz g
i = 5B gpe os,g | v 8k 5 ERE 8
’ — S - & : mwo =
: ;2w ozal| B 2 27 8 2
< < R 20 = - EV
< R0 =
I R %0 o o il = oo O W
= D) 3l =< S 0 U S} - w oo
Sy g ol T = RJ T+ T iy o K0 oF < R0 T
= 0 5 t A REORTOKE oD 0 -3 ) OF =z R W
o) _ R4 = H R® g Tw g oo it R woo®W o ®
= R L= n W R MWD < e o0 Of o M A Ao
ok < S L ==z ®m = oW = =] o) (SOl _|_ wo uwo uo up
ol ujo = H|D|D < I < K < = nimo = 0H e EIENE = = E
. = uo <l =lso|lm H o How~ W s W, |®|X alblelE = = = =
= ) eI} Sslulm H = H H < w B s A% gy o |¥Wiplms s S o
R = = el R @M KWW K |p|FHME |mjoxR |0ty ¥ @ »
RO = M =< Dlayl= Tk s S |zl O |als T |WH|alzs T 3 3
. © ow O l=]- O O O |ul|= O —|<+ O mm11OOOO
% 2 . 0|8 |2 SIS s SIS
I+ =< | S
)




od
i’
oF
uJ

< SI33|3 < e 818 13
IR S|3S © (&
20 SIS < | gl
E <
E=)
1] 3|83 8 8| 818 & <
o QDD S S|e S|3 |~
— —|=|wo|w© o — |- il =~
H3r B 1 ; e N
ik
RIS
N 3 > 3 S m B S SIRNSIB|IB B S 3 S S S 8 8 S8 (88 8123
I A T N = J|g|lgpnu xS N & ® S S5 Slg|la S9|8 S 9o
— — [e6] (V) [e) N l®)) < o — — — (ap) o O Q|| — — | 0O | © [e0] <o}
— VB2 o -~ — |~ — % 5
ol
<
S
VT BT W oW W W = = ©® ®© o = o o ol
== [aN] al == == == - Ql Al [eN] Al (=] ()] —
m — X m m m m X % % x X X % — x x
2 5 2 2 2 2 8 4 i s 2235 g 3 i
o | g 8  ® ® ® 8 8 8 4 405 W 8 k: 8
A A o ol ol 40 ] 2
x| 8 ¢ 8 & 88 8 =8 = 8 8 8% 3 3 5 s
Tl s s ¢ & & = wo SRS @ 8 : %
. @ = o 88 wg 8 - T3 =
M or RLRLX R — R0 %0
u_. 5 K = w w w £ = m Y
 |uy i moou 5 Wt uomo Bon < & Kl
A o = ™ M .
SN = oo = | | ndowoEF R L ow = i
= |4 5 = mou = U OF RO R R A _% 5 ~ z
| B < o <+ 0= MT o o} o £ W & H =< R = %0
= | o @ N b O o 0 =L Z oz o R O& = N = oM
oF | o+ 4 _® 2 o 2z = RIENL_[_ & M n Ko W = a0 o ALl n
) =) ol|D|D X X RO = = - W = nm|m K o | S
g [gd [ oF) 3o of o o [gd o) Wo |80 [ X KU R R R il 3 K = o %z & | &
= Ho Ho Ho op MO Ho Ho Ho Ho = o0 A KU WO o ol =< %0 ol b oJ = Oy HlH o | =
Ry W W of W W W W W |[Slmlmloc R A W ® W W =W S| W |3 W 30
Rl B o & &7 & & |[Blilajz=2r o+ @ ® F @3 meE |5 |as= |9
- lo © 0 40 O O O O |glil=l=o0 O O O 0O ©O |ul=0 |2l O |55
% s SIS 8 SIS 37 = |
O (m] N
o+ W |=< R | ol
= K




2N DEFBY
A RIS HANSHY FH(NSEESF/UHSNS - =7SIIEY
Selr XA 018 #4535t (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 168,260 210,520 N52,260
01 At2teltl 3,000 3,000 0
O2%cl SgMEN 22 s A
50,0002 *600K 3,000
02 S3=gHl 155,260 207,520 A52,260
OXEN S©EI| SXL24=H]
4,000,000~ 128 48,000
OHOIE &IAER
12,0003 6004 2% 123 8,640
ot Stles=s 51,000
—KT 22t2C MHIA AlB22
2,500,000~ 128 30,000
—CCvV S&lg 25,0003 5004 =% 123 15,000
—224 828 FUHds Sil=
100,000 #5CH* 122 6,000
O2FelsgldN 018 2AES
600,000 * 12 7,200
OXtg= Al 2eld| 24,820
—z=c|H| 1,169,000 *52 5,845
—==U 1,700 x152| B4 +365 & +2CH 18,615
—XgdME 60,0002 *3CH*12] 180
— NS IHAl 60,0002 *3CH*12] 180
OX&ENH B 500,000 * 122 6,000
OXEA =il 16,0003 5021 123 9,600
202 04l 900 900
01 =LHAHI 900 900
OX&EH FH MOILE, 2o &4 ol
60,0002 x3& +53] 900
307 @12t01 & 7,200 7,200
04 QIZHHAMAIH 2 £ 7,200 7,200
O=&Al A& H Bt
7,200,000& 12 7,200
401 Al HIZL 01| 50,000 50,000
01 Al&H| 50,000 50,000
O2%c SGNEAN HOlg |FX2=
2,000,000 *25JH 2 50,000
NEHEE 28 83,259 60,761 27,498
101 21A4H| 52,479 23,602 28,877
04 JIZtN2Z2 XS+ 52,479 23,602 28,877
O2F2AEH SENEAH I, 2 & =
& WX JIZN2Z2 A 2 52,479
—JlEs 80,2403 x2EH 202« 10 32,096
-5+ 80,2403 x2H 44 7,062
—BUaRLsy
80,2402 x2H*22 x 102 3,210




2N DEFBY
T 0IEMO HUDSUY PH(DELER/HSDE - BRSIIEN)
Selr XA 018 #4535t (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—se2=z 15,0453 x8 Al 22«20 4,815
—DE=2d J|ARES 5,2%6
=glo= 47,181,120 4. 5% 2,124
HBEE 47,181,120 +3.545% 1,673
- IEEE 47,181,120 %1.75% 826
AHHES 47,181, 1202 0. 966% 456
NS 1,673,0002 %12.95% 2177
201 et 3| 12,320 11,959 361
01 At 22|l 10,280 9,919 361
Oget=EH| 8,780
—ZeBHEYH 7Y 320,000& 22 640
—JISARESH 150,000& %102 1,500
—NEAHWFW, A 2
200,000 *32] 600
~XENIB BR ¥ 2 EX
700,000 *42] 2,800
—2tel oRIIEaS S20AY|
9,000 x3Z*10A!x 12 3,240
O& MEN F2E Y02
1,500,000& %12 1,500
02 s3=gHl 2,040 2,040 0
O882= € HA 2,040
—Ste= 120,000& «12& 1,440
—=ER2= 50,0002 123 600
301 EtE NS 21,960 25,200 A3,240
14 JIEt2 a3 21,960 25,200 A3,240
OO0t MEHWA ZAH
30,0003 *2A| 2E3Z %50 & 9,000
OASI T8N WA ZAt=E
30,0003 x2A| 2t *3E 122 +62] 12,960
405 AHatE = 1,500 1,500
01 ML ESFSHI 1,500 1,500
O2Fel SENEN ALY 22| HRE &
&t 2 500,000 *3CH 1,500
AEA Ol &85 30,000 30,000
401 Al HIZ R 0HHI 30,000 30,000
01 AlZ8| 30,000 30,000
O25cl SENEA HOE & &
3,000,000 * 1094 2~ 30,000
AH2IJH(NSEHL) 163,751 151,104 12,647
elIE =g 105,931 93,604 12,327
el 2d| 105,931 93,604 12,327
101 212A4H| 105,931 93,604 12,327
01 2= 102,035 89,803 12,232




od
i’
o
uJ

=
[
&0
o
=

~

o
AR D
&M 80 30
R0 0H OH
Wo %o &r
= &0 o

|.IA—P__.I
I+ &0

X XH
&t

-

KIO

Hlw

95

320
320
2,000
2,000

1,680
N 1,680

HE
0l &y

3,801

57,500
57,500
28,700
28,000

700

25,200
25,200

3,600
3,600

Ofl &F2H

55,926

46,109

3,89%

3,8%
57,820
57,820
30,700
30,000

3,000
1,200
6,000

1,000

600
500
500
1,000

16,200

700

700
23,520
23,520
23,520

3,600
3,600

- SRA(3) - HIRAEY

- ESS

S - B

11,9502 x 132 +30AI 2+ 123
96,0592 x4 EH*1202

<
|
KM

02 JIEt

+30AI2H+ 123

2 %1

sl

o

10,821

01 AtR2telbl

OJ12 A

3]
500,000 122

i
00
oF

3

=l

300,000 #4
250,000 & #4

300,000&+10

=

te|dl

el
et

OSAEAl 7Y
O=EALDI X

o
Ul

RO
0
]

oK

to

<1
)

3

5

3]

3

250,000 #4

125,000 %4
50,000&+10

200,000&+3

9,000 *15&*10+ 123

HetdHAE M=

30
0K
[H0
[0

-

o0

2,000 350K
140,000 x14H 122

2UHE 0]

01 S0

202 04|

K]
KF
oF
oD

Jl=23l

3,600

300,000 *12&




